
PS-5350-04 SERVICE KIT TB 40000HR TYPE C

25923 TINA LANE

KATY, TEXAS 77494

TEL: (281) 352-8588 

FAX: (501) 694-3080

psi@patented-systems.com

Web Site: www.patented-systems.com
 Service Kits Details

Part Number Part Description Qty. Req. U/M

CT-130A/3  2 EATABWASHER, 5/8" S.S.

CT-130A/5  14 EATABWASHER, 1/2" S.S.

CT-130A/7  1 EATABWASHER, 3/4" S.S.

CT-148/3  2 EAWASHER, 3/8" SS SPECIAL

CT-168B/24  2 EABOLT, 3/8-24 X 3-1/2" LG SS

CT-3056  1 EABEARING, BOTTOM HALF

CT-3057  1 EABEARING, TOP HALF

CT-336D/21  2 MTO-RING CORD, .139 X AS RQD

CT-336F/14  2 EAO-RING, 1/4 X 7"

CT-336F/15  1 EAO-RING, 1/4 X 9-1/2

CT-336F/16  2 EAO-RING, 1/4 X 10"

TB-12014  1 EARING, SEALING

TB-12015A  1 EABEARING BUSH

TB-12016/2  9 EAPAD, BEARING THRUST

TB-31016  1 EAPLATE, LOCKING

TB-32614A  1 EASHIM, SET

TB-32616B/7  2 EAPAD, THRUST W/ T/C HOLE

TB-32622  6 EASHIM, SET


